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(A) (21 (B) (23) C) (25) (D) (2.6) (E) (27)
# f(x)=log 4 (2x* ~5x* ~10x+8) > B] f(2-+/3) =2

(A) -4 ®) -2 ©) 1 D) 2 E 4

- fEM 2 85 (1-+3,-1) # (1++/3,-1) 7 8 (3-2) » RIS I E po2 £ 5 im?

(A) 2V3 B 4 ©) 25 (D) 26 B 2J7

747: 59

1 2 3 4 5 6 7 8 9 10
A B E A A C
11 12 13 14 15 16 17 18 19 20
D C E D B B D B D D
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R 204 HE > S A 0 FET Gl o

1. @ w2 A LR X +12x+y?+32=0_"+ > * 8.B & F x*+y*+16y+55=0+ > p]AB 2 £ &
Bl iEs ®?
(A) 5 (B) 6 € 7 (D) 8 (E) 9

2. FHFR AN (X -1+ (y=5)° +y(x=1)7 + (y+3)° =10 > PIFFFIEE 5 7 ?
(A) 2 (B) 3 (C) 4 D) 5 ) 6
3. FEMLEIMEX+Ty=1£F » 7 Ll 3 M2x-3y+1=0% 4x+5y-9=0:2 &

PPl Le 2N R ?

(A) bx -7y =-2 (B) 5x + 7y =12 (C) 7x-by =2
(D) 7x +5y =12 (E) 7x+5y =20
4. log, 216 —log, 9 —log, 9 = ?
(A) 2 (B) 3 C) 4 (D) 5 (E) 6
2 2
5. #%a,firaix-2x-1=02 = %’E'sz?
a’ +p
1 1 1 1
A) -4 B) - = C) -= D) = E) =
(A) (B) 5 ©) 3 (D) 5 ()2
6. ;{%<esﬂ£sin9=g’E'J«/2+2c0326=?
4 6 8
A) 0 B) — C) 1 D) — E) 2
(A) (B) c ©) (D) c (E) c

7. s f(X)HZ K ¥ f(x)>05ﬂﬁi§—l<x<% s B F(2X) < 0erfz 5 @72

(A) x<-1 & x>% B) x<-2 & x>1 (C) —2<x<1

(D) x<—1 b x>E (E) —£<x<1
2 4 2 4

8. Ha i A5 log,x=5-

2 A4 Pla+p =2

log, x
(A) 84 (B) 85 (C) 86 (D) 87 (E) 88
9. %2.9°-39.3'_45=0>p]x="
(A) 1 (B) 2 € 3 (D) 4 (E) 5
b

TERE



10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

R Ly P

(A) sin 377[ < cos%ﬂ (B) cos(—6) = —cos @ (C) 1+sec’d =tan’ @

(D) sec(% +6)=-cscd (E) sin(a + B) =sinasin S + cosa cos S

5135 -11.13 —25.13° ~12.132 +a-13-13=0 » fa="?
(A) —12 (B) —11 ©) 1 (D) 7 (E) 17

LR N G x=ayl+b o H P a>0 0 E i 0B (0,4/2) F LA L (—%,0) ’

fla—-b="7°

1 3 7 7
(A) 5 (B) 5 (©) " (D) 2 (E) 5
£ f(X)=x>—4x2+2x+k ® f(1++/3)=2» £k=2
(A) -3 (B) -2 (C) 2 (D) 3 (E) 6
v fa~b2dii0 E|al=2-|bl=4r (38a+2b)-(2a-b)=-4 > Bl o=2

T T T T

(A) 0 (B) s (©) " (D) 3 (E) >

FEY A AR X —2x—4y? -3=02 - FE.AHE 5 (a,b)& (c,d) > Bla+b+c+d =?

(A) 0 (B) 1 (€) 2 (D) 3 (E) 4

2

3 (a,b) % E3x+4y =12 > ] (@a—4)* +(b—5) b & % @ ?
(A) 4 (B) 8 (€) 12 (D) 16 (E) 20

¢ srx? =3x+ 2% f(x) st 5 2x+52 x2+2x—3*‘,$ g(x) kst 5 3x -1 B x-1'%
[F(x) + g(X)] 83 % w2

(A) -2 (B) 4 (C) 5 (D) 7 (E) 9
A< Hs%rf 18sin® @ +9cos@ —13=0 > Pltan @ = ?
(A) % (B) % (C) V2 (D) 242 (E) 32

L fa=<ll> b=<2-xy-1>°%y>0 - 2|a|=\6_v alb . p(xy) =2
(A) (-1,-2) B) 3,2 €) (4.3 (D) 6.4 (E) (6,5

~Tx+2 _ A B C s
X+HDx-1% x+4 x-1 (x-12 '

(A) 2 (B) 3 (€ 4 (D) 5 (E) 6
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1. 4858 2sinx =x 3 & B fz?

(A) 2 |B) 3 € 4 (D) 5 (E) 6
2. AxLHFE RBEA AP ENAXES1248x—x%x> 0 X2 <4+3xMfR L @2
(A) x<2&x>3 (B) x>3 (C) 3<x<4
(D) -2<x<4 (E) x>4
3. co0sl27° cos23° + c0s217° cos67° =7
V3 2 1 1 V3
A) - X2 B) - 1= C) —-= D) = E) X2
(A) 5 (B) 5 ©) 5 (D) 5 (B) 5

4. 7 x5 logz(X—%) >log,(2-X) -1z f# 5 iP?

(A)1<x<2 (B)1<x<§ (C)§<x<2
2 2 2
(D)_T1<x<1 (E) 1<x<2
1 1

5. &lim “X+ 3X+1=?

x—1 X2+ x-2

1 1 1 1
(A) 4_8 (B) m (©) 2 (D) 4 (B) T
6. %lf %é" F2 X(x-6)==25 42 g > B> Bla’B - af? =
[04
7 J7 7 J7 V7
(A) - (B) 3 ©) e (D) = (B) 3

_ 2 _ 2
7. wrﬁ%@ﬂwz;“;(xal) e 42) L1r A e ey £ P(K2) 5 HEL - 8 P

B3| 2 (L 2) PEEAE T ACES 0 Bk a s e Plat BAET A2
(A) 3 (B) 4 ©) 5 (D) 6 (E) 7
8. WEMLEEARBO0)(0-4) EAMdEH(-L)r#LLE2 55 FMH
> 425V 5 ax+by=1- Rla+b="?
(A) -7 (B) -1 ©) 1 (D) 3 (E) 7
) a—3x_a3x
9. #a>0>a#%l-2 log,(v2-1)=2x - F =7
+

(A) 2-42 (B) 3-+2 (C) 1++2 (D) 2++2 (E) 3+42

¥ 5 &3 ALp



10. %*’d’%f&'ﬂx=6—14y2—t’i’§_éslﬂx—%y+1=0ﬁ Qg kLR Bk ST 2
(A) 3 (B) 4 €) 5 (D) 8 (E) 9
11, 24w ®a=<31> b=<2,4>°%|a+th|25 ] &5 m?
(A) 2 (B) 3 (C) 2 (D) 5 (E) 6
12. gnm(—V?’XJra_b) _3, fa+b=?
x—>0" X 4
(A) 6 (B) 9 (C) 12 (D) 15 (E) 18
4 3
13, X EXADXAD_ gy B DKAC i xtraba d ko Rl
x’ =1 Xx-1 X"+x+1
a+b="7?
(A) -2 (B) -1 € 0 D)1 (E) 2
14. = o glal=2|bl=3~|c|=22|a+b+2C|=0 > RI|a+2b+5C|=?
21 23 [24 [26 [27
A) L= B) .[— C) = D) |22 = R
(A) \/Z (B) \/Z (©) > (D) > (E) >
15. B#* P(2,0) ~ QO0,)f*R X  +y> =4+ =8> Pz £42PQR &~ o # 5
(A) 4 B) 2+2¥2  (C) 4+42 D) 42 (E) 4+442
16, TAVR- iFEME S EARMAX-3y =2~ X-4y=—Tch3 & T 0 H> fg;\?
(A) x—-y=-9 B) x-y=9 C) x+y=-9
(D) x+y=9 (E) 7x—-7y =5
17. # £(0) =10g,;3/g(x) » # 7 g(x) = x* +5x° +6x* + x =1 » 7] f(3-1)="?
1 1 5
(") < B) 3 © ¢ (D) 1 E) V3
18. i f(x) = Sin?x —cosx + 1ehde + i % im?
5 7 )
A) = B) — C) 2 D) = E) 3
(A) 2 (B) 2 (©) (D) 2 (E)
19. %f(X)=X—_1£ f(g(x)) = x+1 » fg@) =2
X+1 2x +1
(A) 1 (B) 2 €) 3 (D) 4 (E) 5
20. ;{4x+1_15,2x+1+3220 é‘f”ﬁ%gf‘;a‘ff’ﬂ’alja—Fﬂ:?

(A) 1 (B) 2 €) 3 (D) 4 (E) 5



10

20

19

18

17

16

15

14

13

12

11




107 8 & R v B 374 KA#HABE 5 - < Pl

EHRE 208 HE o SRS L 0 B e

1. 3R 9x° +16y? —18x—-135=0¢3 &85 F ~ F, » BLP & iflf]+ - % PF, =2 » B PF, = ?

(A) 1 (B) 3 € 5 (D) 6 (E) 8
, v o . 2 . 3 2 n2 3
2. Fa,fu > AR X+;+1=0m5 R pla’f-a’p+apf’="?

(A) -10 (B) —6 (C) -2 (D) 6 (E) 10

3w f()=xt+ax’+bx+c - HPa b cy i FH-FHENF(X)<02f2a x<-22"
f(2)=0 - Rl3a+b+2c="?
(A) 5 (B) 6 € 7 (D) 8 (E) 9

4, %AABC*® > » & AB=<3, —2>  BC=<x, —1> ~ CA=<4,y> > Bl y-Xx=?
(A) -10 (B) -4 (C) 4 (D) 10 (E) 20

. 1 . -
5. %’sme—cosezz » RIsin@+cosd ¥ it 5T AR ?

1 1 V5 V7
(A)-1 ®)-3 ©)3 B)—- B
6. FHes sy =2X"+bx+CeEE 5 (L 4) > Bl 2b+c="?
(A) -2 (B) -1 (€) 0 (D) 1 (E) 2

7. % AABC ¥ » /BAC %4 & » [AB|=6 ~ [AC|=7 - % AABC < ## 5 7J5 » #) AB-AC = ?

(A) -28 (B) -14 ©) -7 (D) 14 (E) 28
5z T
=cot—=Kk » pjcsc=="
8. # 3 | 3
k N1+k? k V1+k?
A -—— B - (© k 0 — (B
V1+k k VJ1+k k
9. X~y ~z¥ i FH 2 xyz#00 8 =9"=5=a"" .11 pla s im?
3x 2y z 2
(A) 500 (B) 600 (C) 700 (D) 800 (E) 900




10.

11.

12.

13.

Za+2b=10 > pla’+b’ ek | B L @ ?

(A) 10 (B) 15 (C) 20 (D) 25 (E) 30
1 ;

HF(M) = s R F@)+F@)+ @)+ + F(15)="?

® (n) M+\/ﬁ ()"‘ ()+ ()"‘ + ( )

(A) 1 (B) 2 © 3 (D) 4 (B) 5

% X2 -x-2% x* +x3rax®+Xx+bepN L x+1 0 plat+b’=?
(A) 145 (B) 146 (C) 147 (D) 148 (E) 149

2 f(X)=x" -9 +5x2—3x+16 » p| f(5—2/3)=7?

(A) 6-4J3  (B) 8-643 (C) 10-843 (D) 12-1043  (E) 14-1243

14, e Ry=x"+kx+2 L 22 M x+y-1=02 + > > plkehfefl 2 @ ?
(A) —V2<k<+2 (B) k<—/2 & k>+2 (C) -2<k<2
(D) -3<k<1 (E) k<=3 2 k>1
5. Iog3-I09625-Iog78:?
log,5-log2-log, 27
(A) 1 (B) 2 €3 (D) 4 (E) 5
16 s v ga bt st Flald[bl=2 nl|3a-40|=?
(A) 5 (B) /53 () 8 (D) /73 (E) 9
2 R
17. & X +bX+C2= L + 2 + 1 > > Bl 3a+2b+c=?
(X+2)(x+1)° x+2 x+1 (x+2)
(A) 16 (B) 17 (C) 18 (D) 19 (E) 20
18. %”Iog(1+cose)+log(%—cose):Iog(—%cosé’) P RIOF A ST AR 7
A -Z ® = © Z ©) X € 2=
6 3 6

19.

20.

*P(4,3) *Q@4,-2) *RL2) 5Td + =8 RELP 5|7 5 QR EEdg o
(A) 2 (B) 5 ©c) 3 (D) 5 (E) 26
Fa s> Azt log, (x+2)=2-log,(x—6) 213 » AT Flie g G a2 R H?

(A) 6 (B) 8 (C) 10 (D) 12 (E) 14
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1. % sy=ax’+bx—c>a~b-~c¥ i@ F#> AT P kit o ¥ T AE?
(A) Brw™ (B) & x$hi % B (C) 21 yn
(D) Hgied = %12 (B) H&T =7y
2. (150x° —312x* +28x* —13x —9) + (x — 2) ek 5 4 im
(A) -19 (B) -3 (C) -1 (D) 1 (E) 3
%0Q(ab)izsmL:2x—y=475P(1,3) ch&iTg. > Pla+b="?
7 13
(A) 2 (B) ) C€) 5 (D) > E) 7
4. XF - R @) HELEMT Fxi? Ll @i h3 B > $iEE(4,0)
%-& S IE”)
(A) 242 (B) 243 (©) 245 (D) 26 (E) 4v2
5. 3 M3X+4y+k=02 I x*+y*+8x+16y—-20=04p*>2 k<0 » plk =?
(A) -8 (B) -6 C) -4 (D) -3 (E) -2
6. xa=(Lt-1)~b=(2t-2t+2) - Falbr|bj>2  plt="
(A) -4 (B) -1 €)1 (D) 2 (E) 4
7. ZFTX)=6B"*+5) =B +5")+3 > B f(X) g ] B 5 @2
A) 1 B) 2 € 3 (D) 4 (E) 5
8. # %X —4Ax+22[x—-2/#fz 5 P?
(A) (-0, 0]UL, ) (B) (-o,0]uU[2, ) (C) (-0, 0]U[4, )
(D) (-o0,1]U[2, ) (E) (—o0,2]U[4, )
9. f:.,é:azlogé . b=|ogg » Bl log24 ="?
3 3
(A) 2a-5b (B) 3a-5b (C) 4a-5b (D) 4a-4b (E) 4a-3b

10 3% 42553 (3)? =272 %3 f2 i a® B> Rla’+ B> =2

(A) 10 (B) 11 () 12 (D) 13 (E) 14



11. sin(—23)sin367° +cos7°sin(-247") =?

-3 -1 1 V2 3

(A)T (B) > ©) 2 (D) > (B) >
12, % f(x):% » #lim f(3x_i)__1f (x+D _,

(A) V2 (B) % (©) % (D) # (E) ¥

13. 27 2 & A 2> 28 X2 +mx+n=0 > T A MEEA S35 Fan R

A) -3--4 (B) -3-2 (C) -4-5 D) 2-5 () 3--5
14,3 x*+x-3 A . B Cx+D B =2
T x=D)2(x*-x+1) x-1 (x-1% x’-x+1
(A) -7 (B) -5 € -3 (D) -1 (E) 2

15. %2 MLEBPLOG) 2 2% - 2 WrFen= &5 f 2 40 RIERLeh> 4258 5
(A) 4x-y=2 (B) x+4y=25 (C) 2x-y=-4 (D) 2x+y=8 (E) 4x+y=4

16. lim (Vx> +2x +Xx)="?

(A) 2 (B) 1 ) -1 (D) -2 (E) 5t

17. % a=1log2 ~ b=log3 ° # xi% X5 -6-5"=1> Pl x="?

a b b b a
(A) b (B) 1ra ©) 2 (D) 1a (E) 15
18. Sn#ic f(X) =tan’ x—secx+4 2 &) & 5 #?
11 13 7 15
(A) " (B) 3 €) 7 (D) > (E) 7
1 .
19. 2% f(X)=+5-x ~ g(x)= LRl L & Sdcgo f e A L P2
& f(x) X~ g(x) i | #cgof ha s
2. % lim X r@=3x=3a_ 1 o,

x>2  X*4+3x+2
A) 2 B) 4 ©) 6 D) 8 (E) 10
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1. f(x) i) g(x) "f "L (x=2) et A s L 5 =20 B (X —x+1) f(X)+(x=3)g(X) ",f " (Xx—2)

Fﬂfﬁ';{ :a IF

(A) 11 (B) 13 (C) 15 (D) 17 (E) 19
2. a-bmi98 » ax®+bx-5<02 ﬁ¢171<x<g’ﬁla+b ?

(A) -2 (B) -1 (C) 0 (D) 1 (E) 2
3. %”Zg:ak=7 . ibk=5 v ¥ a,=5-b,=-3> E'Ji(Sak—4bk+3)=?

(A)k156 - (B) 57 (C) 58 h (D) 59 (E) 60

4. %”0<0<%£ tan9+sec0:% » Psing =?

2 3 4 5 6
A — B) — Cc) — D) — E) —
()13 ()13 ()13 ()13 ()13
x>0, y>-2
5, AdETIe b od 2 - B2 N IX+2y-2<047 R > RIFhm fF L P2
X+y—-2<0
(A) 5 B) 7 ©) 9 (D) 12 (E) 14

6. %”0<0<%£ cos46 =sin26 - pltan26 ="

1 1
) - ® & ©) 1 (D) 3 E) 2

7. FARC (x-2) +(y+1)’ =42 C,1(x+2) +(y-2) =kAp 2 > PIF ke B 5 02
(A) 2<k<4 (B) 3<k<7  (C) 4<k<25 (D) 5<k<36 (E) 9<k<49

8. £aw®a-besisig-r|aHb|~|a+bl=7 ~|a-b|=+2 5 Blcosf=2

3 3 5 5 7
(A) - (B) S (C) S (D) = (E) y
9. :é_fﬂax+by ab = O(a>0 ~b<0)sf§ﬂh( 3-1) ¢ j@‘_%ﬂﬁr‘b@ﬁ;ﬁ@@é&imi & 2

B L6 Bla=?

(A) 2-242  (B) 24/2-2 C) 2-+/2 (D) 2442  (E) 2+242
10.7a *b oy 2 BHk > ¥ xX}—x*-3x+2=(x+a)(x*+bx+c) > Pla-b+c="?
(A) -4 B) -2 € 0 (D) 2 (E) 4

Fo w7 74




11. 2 -2 =2 g x=2?
(A) log,(L++/2) (B) log,(2++2) (©) log,(1+2v2)

(D) log,(2+2+/2) (E) log,(3+2+/2)
12. %(logg)(logg)ﬁiﬁ g5 610 Bla=?
3 4 61 61 61
(A) ol (B) ol ©) 7 (D) 3 (B) >

13.% b>0- % 8 4L, :3x-4y+2=02L,:8x+ay+b=04p3 &% > » 8. (4,-2) FlE M L,
pEdE i 3 0 Pla—-b="?

(A) -6 (B) -4 €) -2 (D) 2 (E) 4

14, 2L P(L,— 6) F|# 4 y/(x=4)> +y? +/(x+2)2 +y? =10 chb BFEHL 5 P ?
(A) 1 (B) 2 €) 3 (D) 4 (E) 5

15. B P(0,2) 3 & 4 X* —y? =1chgb BEEY 5 @ ?

(A) 1 B) V2 (C) 3 (D) 2 (E) V5
16. © 5 i F & FE?

(A) 0<9<%:>c050<sin6? (B) %<«9<%:>tan0<sin9

©) %<0<7z:>5in0<cose (D) 57”<0<377[:>c059<sin9

(E) 377[<6?<27z:>tan6?<sin9

17,390 5303 £(x) % 1 X+1 ~ X2 =Bx+ Ltz 4 0 5 4 ~ 2x+11 0 % £(X) %
(X+1)(x* =3x+1) h8p 58 5 ax® +bx+c » Ala+b+c="?

(A) -14 (B) -13 (C) 0 (D) 13 E) 14
18. * % ;% log, Xx+6log, 2<52_ f& % @ ?
(A) 2<x<3 (B) 1<x<4 (C) x<1&2<x<3
(D) x<1l#4<x<8 (E) x>8
19. Xy, 25 78 2 x-1_y+l_z2-2 C B X+ 2yP + 2P k) B G R 2
2 -1 3
1 2 4 :
A3 B) 3 €)1 D) — E) 2
A) 3 (B) 3 (©) D) 3 €) 2

20. £ 2P 42 AQLL ~ B(-5,4) 2 FF® AP:BP=2:1> p|2P 5|2 % 4x—3y=12 i 5 i ?

®) 4 ® = ©Z2 o o
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1088 £ w Hi7d A#HKE S - (A %)

FHAL 204 HE 0 K5 A FHT Elde o
Lo %580 - (fx=2)" <4x-2 R #cft -

(A) —1<x<4 (B) 0<x<4 (C) 1<x<4 (D) 2<x<4 (E) x<1&“x>4
2. KA F 1 (x-2) Q) > AREE 30 F (X "F 1 (x=1) ckkEic: 10 RIQM =2
(A) -2 (B) -1 €)1 (D) 2 (E) 3
3.éilfr;%‘%ﬁ;“ﬁ—2x+4=oﬁﬂ+a,aqa+ﬁ:?
(04
(A 5 ®) > © 2 (D) 4 (E) 8
4, 1+1+2)+(A+2+3)+--+(1+2+3+---+10) =?
(A) 180 (B) 210 (C) 220 (D) 240 (E) 250
—26x+47 ax+b c d
.3 = » ) d =2
0 P]{(x2+4)(2x—1)2 x2+4+2x—1+(2x—1)2 &
(A) -8 (B) -4 €) 2 (D) 4 (E) 8
6. % cos20=sin@, 0<O<r7 » Altan’0="
1 1 4
A) = B) = C) 1 D) — E) 3
(A) 3 (B) 5 (® (D) 3 (E)
7. % AABC?*¥ > tanA=i cosB=E » plcosC =7
3 13
56 36 16 16 56
A -2 B) - C) - — D) — E) >
()65 ()65 ()65 ()65 ()65

8. sin150° —c0s240° —tan315° =9
(A) -2 (B) -1 € 0 (D) 1 (E) 2
9. = 21100 X" =x°2 74 FVhz S fo s w2

(A) 1000 (B) 1001 (C) 1010 (D) 1100 (E) 1110
10, #7820 XH5 g ny
log, x-1
1 1 1 1
A) — B) — C) 3 9 D) = E) —
(A) 27<x<3 (B) 273x<3 (C) 3<x< (D) 27§x<9 (E) 27<x<9
_1\2 _1\2
11, ¢ ) (X161) +(y251) L phina FEL T - PERT i E s » Digee(71) o oI T &
fhe 5 @9
(A) 6 (B) 8 (C) 10 (D) 12 (E) 14



12.

13.

14.

1.

16.

17.

18.

19.

20.

(E) 121

(E) 6

(E) b<0

(E) 8

(E) 252

FAFC:(x+1)°+(y-2)"=16 #C,:(x=3)° +(y+1)’ =ktp>> > Bl k¥ it 5 77
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